Presl(a) 01PA12, inclusive ADC a01PA12
— Entries 504000
120 e e Mean 0.9922
— RMS 6.367
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Presl(a) 01PB12, inclusive ADC a01PB12
- Entries 504000
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Presl(a) 01PC12, inclusive ADC
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a01PC12
Entries 504000
Mean 0.9783
RMS 6.27
Integral 5.038e+05
X2 / ndf 109/ 2

Constant
Mean

3.417e+06+ 71977
0.5667 + 0.0004

Sigma

0.03399 + 0.00019
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Entries 50
Mean 37.36
RMS 25.93
Integral 50
X2 / ndf 10.8 /15
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MPV-L
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15.13 + 3.96
33.32+ 8.85

sig-L
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Presl1(a) 01PD12, inclusive ADC a01PD12
Entries 504000
Mean 0.9787
------------------------------------------------------------------------------------ RMS 6.267
Integral 5.038e+05
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Constant 2.409e+06 + 50767
_______________________________________________________________________ Mean 0.5702 + 0.0005
Sigma 0.03955 + 0.00026
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Pres1(d) 01PD12 , ADC, tag: UxV 2*thr dO1PD12
= Entries 56
I Mean 42.18
- RMS 35.06
A Integral 55
= X2 I ndf 9.57/14
= ampl-G 0.4918+ 2.9872
— const-L 214+ 55
— MPV-L 26.18 + 5.23
— sig-L




Presl(a) 01PE12, inclusive ADC a01PE12
: Entries 504000
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Pres1(d) 01PE12, ADC, tag: UxV 2*thr dO1PE12
Entries 33
______________________________________________________________________________________ Mean 40.24
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g MPV-L -159.6 + 163.6
sig-L 0.5986 + 1.0571
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Presl(a) 02PA12 , inclusive ADC a02PA12
IV Eo—— T . Entries 504000
- Mean 0.9781
RMS 6.242
100 g e e Integral 5.038e+05
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10 — : : Entries 43
oF_.. : Mean 34.33
RMS 23.88
8 g Integral 43
7 X2/ ndf 7.238/12
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const-L 14.93 + 6.53
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Presl(a) 02PB12, inclusive ADC
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Entries
Mean
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Integral
X2 / ndf
ampl-G
const-L
MPV-L

55

33.31
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55
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-0.8589 + 2.7067
2.773e+05 + 773126
-65.91+ 39.76

sig-L
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Presl(a) 02PC12, inclusive ADC
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Entries 504000
: Mean 0.9949
F RMS 6.44
5 Integral 5.038e+05
X2 / ndf 89/2
Constant 3.163e+06 + 66654
Mean 0.5674 + 0.0004
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0.03509 + 0.00020
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Pres1(d) 02PC12, ADC, tag: UxV 2*thr dO2PC12
: Entries 63
B e S Mean 37.52
= ? RMS 27.63
= Integral 63
- X2 / ndf 9.245/ 20
- ampl-G 2.763 + 2.948
— const-L 26.89 + 6.44
= MPV-L 22.15+ 3.40
— sig-L 9.759 + 2.651




Presl(a) 02PD12, inclusive ADC a02PD12

Entries 504000

: Mean 0.9883

120 e A RMS 6.363
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10— 5 Entries 56
O b Mean 31.86
= RMS 18.65
8 SHEEE 5 Integral 56
T X2 / ndf 1457 /16
OO SN OUROUOOE SOOI SO ampl-G 2.265 + 1.538
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Presl(a) 02PE12, inclusive ADC
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Entries 504000
Mean 0.9892
RMS 6.315
Integral 5.038e+05
X2 / ndf 100/ 2
Constant 3.173e+06 + 66859
Mean 0.5675 + 0.0004

Sigma 0.03509 + 0.00020
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Presi(d) 02PE12 , ADC, tag: UxV 2*thr d02PE12
10 Entries 62
O b e Mean 34.84
= RMS 26.91
By Integral 62
L S R S X2 I ndf 10.5/17
= ampl-G 2.632+ 2.110
- const-L 24.33+5.10
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“E sig-L 10.76 + 2.47
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Presl(a) 03PA12 , inclusive ADC aO3PA12
- : : Entries 504000
120 g s s SR Mean 0.9819
- RMS 6.275
100 =4 b s e Integral 5.038e+05
B x2 I ndf 117 /2
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n Mean 0.5699 + 0.0005
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Pres1(d) 03PA12, ADC, tag: UxV 2*thr dO3PA12
— : : Entries 47
L e A oo Mean 32.94
~ : : RMS 23.66
e Integral 47
e T s T N X2 I ndf 8.688 /15
= ampl-G -2.555+ 1.911
py const-L  1.617e+05 + 80502
- MPV-L -94 + 19.2
3 sig-!_ 0.4467 + 0.0769
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Presl(a) 03PB12, inclusive ADC a0O3PB12
— Entries 504000
I OO N SO U Mean 0.9744
- RMS 6.241
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- ; X2 / ndf 118/ 2
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Pres1(d) 03PB12, ADC, tag: UxV 2*thr dO3PB12
: Entries 58
S Mean 36.69
: RMS 27.07
Integral 58
x? / ndf 7.199 /17
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ampl-G
const-L

0.4101+ 2.3395
20.97 + 4.87

MPV-L 28.7+5.9
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Presl(a) 03PC12, inclusive ADC a0O3PC12
o T Entries 504000
- Mean 0.9876
- RMS 6.353
T Integral 5.038e+05
— X2 / ndf 109/ 2
SO Constant 2.839e+06 + 59826
- 5 Mean 0.5686 + 0.0004
e I 11 L A ro Sigma 0.03679 + 0.00022
40 :— ----------------------------- 1 R -------------
S R — e S_—
0 TLJ | |JL‘—|J_|L|'H'III|-|-I'H1"'|-I'II'“I|H'IL-|—..:H i, 1)
0 50 100 150 200
ADC-ped
Pres1(d) 03PC12, ADC, tag: UxV 2*thr d03PC12
- : Entries 59
L Mean 35.32
nll = RMS 25.75
e A Integral 59
. :_ﬂ __________________________________________________________________ X2 I ndf 5.444 | 17
. * ampl-G 3.626 + 1.823
Y - const-L 27.75+ 6.41
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Presl1(a) 03PD12, inclusive ADC
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a03PD12
Entries 504000
Mean 0.9805
RMS 6.258
Integral 5.038e+05
X2 / ndf 100/ 2
Constant 3.159e+06 + 66566
Mean 0.5675 + 0.0004

Sigma

0.03515 + 0.00020
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Pres1(d) 03PD12, ADC, tag: UxV 2*thr dO3PD12
= Entries 58
L Mean 35.38
- RMS 29.9
o= Integral 58
cF X2 I ndf 10.26 / 18
= ampl-G 0.6748 £ 2.8465
py const-L  4.636e+05 + 898532
— MPV-L -162.3 + 105.9
3 sig-!_ 0.4187 + 0.4096
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Presl(a) 03PE12, inclusive ADC aO3PE12
__________________________________________________________________________________ Entries 504000
Mean 0.9931
__________________________________________________________________________________ RMS 6.38
Integral 5.038e+05
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3.164e+06 + 66682
0.5675 = 0.0004

Sigma
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Pres1(d) 03PE12, ADC, tag: UxV 2*thr
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Entries 77
Mean 31.12
RMS 19.02
Integral 77
X2 / ndf 12.91/15
ampl-G 3.074 + 2.228
const-L 33.4+6.1
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sig-L 9.138 + 1.699
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